e

DRAWING MADE IN THIéD ANGLE PROJECT ITON - k4 = W
THIS DRAWING 1S5 UNPLBLISHED. RELEASED FOR PUBLICATION , 18 . Loc pIsT EEYISIONS
© COPYRIGHT 19 BY AMP  INCORPORATED. ALL IMTERNATIONAL RIGHTS RESERVED. BD 48 P F FONE LTR DESCRIPTION DATE APPD
A | REDRAWN V=90 -
B | ReVISED PER ECN BD>388 nezzs | RM ]
C | REVISED PER EC 0020-1344-93 nsoses | SE ]

OFPENING FOR CTABLE T
(o DASH NO FOR DIAD

A

TR
WM#/Q ?:

2.090+.015%

|
- C S1ZE IDENT LETTER C
| LOCATED INSIDE CABLE CLAMP CB0 4 07T e -
| SEE TABLE
| CABLE CLAMP
| N i ~ MATERIAL: THERMOPLASTIC
| ﬁ:} FINISH: BRIGHT NICKEL OVER
: BRIGHT COPPER
: #4-40 FILH STEEL SCREW (i:ij
| g HEX NUT, ZINC PLATED, |
| R 2 EA REQD [ | "
|
#4-40 FILH SCREW,

: [ | | | /////_STEELP ZINC PLATED, I
: s 1.920+.015 | 2 REQD ;
| i
l AN s
| m
| il
|
l Juia J &
| n
: | l J | (/_“—\W I
| 1 L R
I U J Y O U d i
| i
| ]

D 280 [/4\ 1-745833-0 745833-9 |
| +
| - 1.852 - 020 0T - c 350 |4\ 745833-8 7458337 |
| /N K 430 /4 745833-6 745833-5 |
: M 480 /4 7458334 745833-3 |
| p 530 |4 7458332 7ASEZ3—
| :
: /I\ ALL PARTS PACKAGED UNASSEMBLED. e 5175 |eale| BuLk PACKED COTvTOUAl
| cT1ER | DIA <IT NO A\ <IT NO AL ]
| O\ AS SHOWN ABOVE, THIS KIT CONSISTS OF 2 STRAIN RELIEF HALVES, .
| 2 #4-40 SCREWS, 2 #4-40 NUTS & 2 #4-40 MOUNTING SCREWS.
|
| _ DR 7-25-90
I /3\ SAME AS SHOWN EXCEPT. EACH PART 1S INDIVIDUALLY BULK ONLESS SPECIFIED J GALLUCCT BG MM INCORPORATED
: PACKED FOR MULTIPLE KIT ORDERS. DIMENSTONS 1N INCHES SHK 91090 Harr isburg, Pa. 17105
: > PLC DEC 4 S — J.McCLINTON —

iji OBSOLETE . 3 PLC DEC =+ .005 9-10-90
| ANGLES + - J.WESTMAN
A L AT IR CABLE CLAMP KIT, SIZE 3, 25 POSN, .
| J- ARSI 180°, AMPLIMITE™ SERIES,
| SEE CALLOUT PRODUCT SPEC CUMTED Bl AcTIC
| _
| _
| FINISH APPLICATION SPEC S17E FSCM NO DRAWING NO
| i
| SEE CALLOUT - | & 0077S /45833
: WETGHT {scate 2 SHEET 1 OF 7
| T , i
AMP 1471-6 REY 3-89 ‘%

; N ' CUSTOMER DRAWING

03-NOvV-93 Ob:58: 27 ame 25061 JFRiLes/wip/ampZ506 1/ edmmod :



